[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

w
&

w

N
&

1.5

0.5

[EEY

0.5

900 GeV p Underlying Event
I | I I I

pT (leading track) [GeV]

[ 1 I | I I I | I I I | I I _|_4(L)
- 15
— Sum(pT) Density (AWAY) (h| < 2.5, p >0.1 GeV) 13
B =
[ m  ATLAS g
—  ---- Herwig 7.1.0 default N
L ¢ Sherpa 1.3.1 default —<
| B [e2)
— o
~ =
— -
B i)
- — ™
[ . —{o
B IO T
L . o
B L v - 3
- SR i I —=
- 5 §o@m 4 X
I oy ICEELL AN ] E
- GEeE T . s
- ﬁiiii 15
B Eii' <
L W 3
w Q
e | 12
— 1L
:! &
| | | | | | | | | | | | | | | | | | | E

- ! ! ' ! ! =
— =2

— ]

— ¢ O RN = Ehd X e T o .

N T e ALt s =

4 2 . =1

e

L —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10



	Contents
	Page 1


